Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 20/02/2024
Exam Time 2:30 PM - 3:30 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q.1 Select the option that is related to the fifth word in the same way as the fourth word is related to the third word and the
second word is related to the first word.
CABBAGE : VEGETABLE :: CUSTARD : DESSERT :: PEACH : ?

Ans 1. DRINK
2. DESSERT
¥ 3 FRUIT
4. VEGETABLE

Q.2

Ans

vl




Q.3

Ans

In the following guestion, select the missing number from the given series.

55, 165, 495, 1485, 7, 13365
1. 7055
2. 6000
3. 5055

4. 4455

Q.4

Ans

Q.5

Ans

1. GNLIOLSH
2. NGLOILSH
+ 3 HSLIOLGN
4. HSLOILGN

Q.6

Ans

2. ABC




Q7

Ans 1. London
2. Paris
3. Rome

4. Vienna

Q.8

Ans 1. Geeta
" 2. Charu
3. Pooja

4. Bhawna

Q.9  Which of the following groups of letters when sequentially placed from left to right will complete the given series?

opq_stopqrsto_qrstopqrs_opqr_t

Ans 1. qpqr
o 2. Ipts
3. Iptp
4. opqr
Q.10
Ans 1. 3and 5
2. 14 and 6
« 3 8and 5
4. 8and 7
Q.M
Ans 1. Whet
2. Wheel
+ 3. When

4. Wheat




Q.12

Ans

wal

WHL12
XHL12
WIKI11
VGKI1I

Q.13

Ans

- Father

Husband
Brother

- Son




Q.14

Ans




Q.15

Ans

Q16 1p the following question, select the missing number from the given series.

14,6, 5,6.5, 12,7

Ans 1. 17
2. 25
320
¥ 4. 29
Q.17
Ans 1. 40 and 80
2. 16 and 30
o 3.

4. 9 and 7




Q.18

In a certain code language, ‘ALLIES’ is coded as ‘REHLKA’. What is the code for ‘BALLET’ in that
code language?

Ans

1. SEKLZC
+ 2. SEKLZB
3. SDKLZB
4. SEKZLB
Q.19
Ans 1.
2.
3.
o 4

- Neither conclusion I nor IT follows




Q.20

Ans

Section : Part-B-General Knowledge and General awareness

Q.1

Ans 1. Matki
2. Gangaur
3. Rai
4. Swang

Q.2

Ans 1 OnlyII
2. Only I

3. WNeither I nor II
« 4 BothIandII




Q.3

Ans 1.
2.
3. Rishi Sunak
4
Q.4
Ans 1
& 2.
3.
4.
Q.5
Ans 1. 1011
21921
3. 1941
W4 193]
Q.6
Ans 1. Badminton
« 2. Lawn Tennis
3. Cricket
4. Golf
Q7
Ans 1. Shehnai
2. Tabla
« 3. Sarangi
4. Flute
Qs
Ans 1. UU Lalit
2.
3
4.
Q.9
Ans 1.

e




Q.10

Ans f 1.
2.
3.
4.
Q.1

The Green Revolution was instrumental in reducing India's dependence on imports of:

Ans 1. Petroleum
2.
3. Textiles
4,
Q.12
Ans 1. Kerala
" 2. Karnataka
3. Qrissa
4. Tamil Nadu
Q.13
Ans 1. Centimeter
2. Ohm
+« 3. Decibel
4. Hertz
Q.14

At the end of which of the following Five-year plans of India, five IITs were set up in the country?
Ans 1. Third

2. Fourth
« 3. First

4. Second

Q.15

Ans 1. Dﬂl}? 1

+ 2 BothIandII
3. Neither I nor IT
4. Only II




Q.16
Ans 1. 8
2. 2
3 5
410

Q.17 Constitutions limit the power of government in many ways. The most common way of limiting the power of
government is to specify certain that all of us possess as citizens and which no government can ever be allowed

to violate.
Ans 1
2.
3.

4.

Q.18 In Olympics table tennis event. if the points are tied at 10-10, a player then has to strive for a point lead to win

the game.

Ans s 1 2
2.3

31

4. 4

@19 Which of the following states/Union Territories have the highest male literacy rate
according to Census of India 20117

Ans 1. Mizoram
« 2. Kerala
3. Tripura

4.

Q.20

Ans 1. Four-years
2. Two-years
+ 3. One-year

4.

Section : Part-C-Elementary Mathematics

Q1 six friends have an average height of 144 cm. A boy with a height of 150 cm leaves the group. Find the new average
height.
Ans 1. 142.8 cm
2. 155.5cm
3. 160.5 cm
4. 108.6 cm




Q.2

The difference between cost price and selling price is Rs. 264. If profit percentage is 33 percent, then what is the selling

price?
Ans « 1. Rs. 1064
2. Rs. 1526
3. Rs. 1084
4. Rs. 1024
Q.3
Ans 1. 15 days
2. 10 days
3. 9 days
« 4. 12 days
Q4 Average of 4 numbers is 52. Average of first two numbers is thrice the average of other two numbers. What is the sum
of first two numbers?
Ans « 1. 156
2. 174
3. 148
4. 147
Q.5
Ans 1. 40 percent
2. 20 percent
3.
4
Q.6
Ans 1. 1150
2. 1200
3. 1000
« 4. 1100
Q.7
AN 134801 omd
2.
3 284.62 cm®

v 4 310.46 cm°




Q.8

Ans 1. 48 percent
2.
« 3. 45 percent
4. 42 percent
Q.9
Ans 1.
2.
3.
4.
Q10 The ratio of copper and zinc in brass is 25 : 12. How much amount of copper will be there in 370 kg of brass?
Ans 1. 150 kg
2 250 kg
3. 50 kg
4. 350 kg
Q1 Two numbers are in the ratio of 11: 13. If their HCF is 7, find the numbers.
Ans 1. 63 and 70
+ 2 77 and 91
3. 70 and 80
4. 21 and 28
Q12 IfP:Q:R=09:10: 11, then what is the value of (P+ Q) : (Q +R) : (R +P)?
Ans & 1.19:21:20
2.19:21:19
3.19:21:22
4.19:21:23
Q.13 If a certain sum of money becomes thrice of itself in 8 years 6 months at simple interest, then what will be the annual
rate of interest?
Ans




Q.14

If 25 is subtracted from a number. then number becomes 50 percent of itself. What is the number?

Ans 1. 50
2. 55
3. 40
4 45
Q.15
Ans 1. Rs. 5600
2. Rs. 5400
3. Rs. 6800
4. Rs. 5750
Q.16
Ans 1. 18 kmv/hr
v 2 22 kmv/he
3. 27 k/hr
4 25 kmv/hr
Q17 What is the value of [19 x {24 + 4 of (24 % 4+ 16)!]?
Ans 1.1
2 19
3. 38
4. 76
Q.18 16 % (9 +4) — 13 x 14
What is the value of t ) i ?
50— (12 + 12)
Ans o 1. 1
2. 26
313
4.9
Q19 1f 18 men can finish a work in 13 days. Then in how many days will 54 men finish the same work?
Ans & 1.
2. 9 days
3. 8/5 days

4. 18/4 days




Q.20
Ans 1.
2. 45 percent
3.
« 4. 75 percent
Q.1
Ans 1. was been
2,
+ 3. had been
4. have been
Q.2
Ans 1. going camping
2. No improvement
3
4,
Q3
Ans 1. develop
2. acquire
o 3. accept
4. obtain
Q.4
AnS f 1
2,
3.
4,




Q.5

Ans

1.

2. No error
3.

& 4.

Q.6

Ans

Fill in the blank with the correct homophone:

In the dense forest, a mother and her cubs roamed freely, enjoying the tranquillity of their natural habitat.

1. bare
2. beer
+ 3. bear
4. Ber

Q7

Ans

Select the sentence with no spelling errors.

1.
The man walks with a grate deal of poise, in fact, very much like an elephant, but he also has the agelity of the panther.

2.
The man walks with a great deal of poise, in fact, very much like an elephant, but he also has the agility of the panther.

3.
The man walks with a great deal of poise, in fact, verv much like an elephant, but he also has the agility of the panthur.

4.
The man walks with a great deel of poise, in fact, very much like an ephalnt, but he also has the agility of the panther.

Q.8

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

This is the most simple and basic component of life.

« 1. Mo error
2.

3.

Q.9

Ans

« 1. univarsity
2. violating
3. prohibition

4. claims




Q.10

Ans 1. Clear
2.
3. Obwvious
4. Common
Qn
Ans 1. firm
2. dogged
3. stubborn
« 4. pbedient
Q.12
Ans 1
2. 1O error
3.
4
Q.13
Ans 1. about
2. above
3. through
« 4 towards
Q.14
Ans 1.
2.
3.




Q.15

Ans 1. In public

" 2. On earth
3.

4. At high risk

Comprehension:

SubQuestion No : 16
Q.16

Ans 1. for

" 2. ACross
3. through

4. along

Comprehension:

SubQuestion No : 17
Q.17

Ans 1. upon

2. too
« 3. to

4. in




Comprehension:

SubQuestion No : 18
Q.18

Ans 1. mutant

2. partially
3. great

« 4. highly

Comprehension:

SubQuestion No : 19
Q.19

Ans 1

2. transited

+ 3. transmitted
4.




Comprehension:

SubQuestion No : 20

Q.20
Ans 1. pointer
« 2. putbreak
3. ailment
4. break

Section : Part-D-Hindi

A Rpfefad vy F Ru e ar el # 9, 39 fawed o1 909 S o 3T 0 gk & orf &) 9498 ¥ § e
FaA g

(SRR
1. g H
2 §gd i AR S
3. HFR §HERT g
v 4 afifdfes aifl g

R At i weal % fog W el Al faded 1 T Y
$ieal Bl Hd Bl d¥e TIeT 14T
At el & ol Bl avg Hdier T
v 2 Hiedl &l Hul I ale THIel T
3. gRAdH B GG hdl Tl 8l
4. BIeTr o Pl B ake Tdlel 41|

Ans




Q.3

Ans

T 71T I # [@TRg el & forT @er oreel arer [&Fehed &1 Iua Y|

S aRsE R €, IE_T%d & &l

v Sl GRHH &d 8, d 9% gl o |
2 S IRHF FIA g, ST The BT &
. 1 9Rtss #d §, S 6 & g
4 Sl U8 $d §, 98 9% a gidl g

Q.4

Ans

frafe@d area 8, 39 araai & ygai-e SR Apneit 3 Iefid <feat ) afe 1S madt T e d@f @18 3fe
el & I g1 Biforg)

el TR g A T A TR $I a1 A1/ T1eT afedh Wipfad Bal & 31 H 4R/ 3R &l giell Qe
Bl

. Pz I T8

2. gIell TR gH 3fUIS e W1 U TR Hl el A4HI
v 5 3R Sl glcil Wl =gy

+. g1feV afcep Wpad Bal & T 2R

Q.5

Ans

=T v &, 91 RFedl # ¥, 37 BT & 907 ¢ 3 o9 =T & B a@fr sraem=s gar
arer e gl
e & T & Fer &, B9 AT § T A F 9 F BT 5 9w B

1. =l
=
ﬁfz.gFﬂEIT

3. Sell=l
=

4. FeldTdT
K

Q.6

Ans

U 77U fadedl & 9 Y aait arel fadhed &1 99 $1|

v 1 T g WieR &Y
2. 3T T B SRS Id A 8l 47|
3. g R it &1 a=1 el gadT|

4 Tl daRl H @ 8




Q7

Ans

f&T 71U aTe ¥ I SRIoI-[CRIeT RIsE o1 99 s (Rad I &1 gfd Hiord |

qrg! g1 dl 9gd 5o CERIST
1, ;ﬂﬂm
2. 9y

3 qde
o 4 S

Q.8

Ans

f&U U a1 H1 98 HF T1d &<, 596 oig AfE Bl

[dgM & a1 ST &1 &1 Yl B 6l BT
! §leH 6l

v 2 I8 Yl B
5. fagHi & &9
4 gl

Q.9

Ans

=T 9o &, 91 fFear § ¥, 37 f9eT #7997 =¢ 37 =g oo+ & w 598 oa= e
e &1l
S T U FIH ¢ owF 9w 7= #r aga ofFa 2

1. roer
2.B'|T|'§'3-IT
V5 FHHAE

g

Q.10

Ans

A ET voa #, 91 [TFedr #§ ¥, 30 [9Fe9 &7 I099 F{ JT #5sF H feT 71T g & fFos oreg
&7 T&r e § |
TH & SR 8= ¢@T & wall & (379q) SITeraT eReT #F IH W E |

Q.11

Ans

T 91T =g # @feg 2 &1 F9F o A9 v

FSUT 3 B 375 TT F FROT 1TH o FaS B

v 3g
2. =T
3. @legl
4 FIATH




Q.12

Ans

Fofafad vy, GU U IR Aeedl # 9, 39 fddhe &1 9g9 &4 ol U 0 gerar & off & 9998 9 9 ad
CRGI

el Gl T
1, g@aw

2. G I

v 3 qg-fgarg gl

Q.13

Ans

AT v #, 91X fAecdl # ¥, 3T [FFeT &7 997 F{ A F53F H 8T 7T e & gargar=r
9TeE FT Tar aeT T & |
A ofEr & @ A (3 T g TS B

1. TETET
2. 3R

)

3 faEiveT
4. ORI

Q.14

Ans

eT v #, IX Reeal #§ ¥, 37 TFeT 7 999 #{ A Fread H 8T 71U e F gIgar=r
e FT Her AFeT ¢ |
3= F T 7 % Fo & @ (5w gT 9
1.%
2. HET
v % @A
4 Herford

Q.15

Ans

fT =10 aeFw # TEF weg T TAS Fh Ned T @ o

@l = g arl
1. f3r8T

2. 5THT

3. Hq

o,

4.@'@




Q.16

Ans

Q.17

Ans

Comprehension:

Aa R Asc g e Rrar i s e m s R g R v & s7 IRt A
¥ Fia 7@ Feew Rea wuw & 9fF Fem-

sfagra @elr § & Bl o v sk 3sf (1) AT § I 3 AU TR R sfoes #r
UTETAT Y TR (2)_ wr of TAwar §, EHINE oaT 8, 3¢ 56 favw (3)_ 9 F @
g1 T ¢ 1 afesm 3= (@) 2T & 9 @ 3 HAT F et Wk vwa F e @ geTe
ST T §1 R 9RE & 9 @ 79 e ¥ O wuE #9=1 ¥, gue sfdew ¥, S9aey wiegtaw
5 %I

SubQuestion No : 16

Red1 & fou 9ed Iugad fdsed &1 994 Sifog|
et
2. g1
3 gfas

v 4 ORI

Comprehension:

#r T o1v 5w # o e o Ru v § # 93w Rew e F 9w fawew Ruoaw § s oAwt &
T Fia @ Rwer fwa T & qfT Fom-

sfagra @melr § & Gl o #r sikg 3af (1) AT § I 3 U TR AR sfoee
QIEIEHT T IETET (2) Fr &f fE@Er 2, TEFIE F4a €, 3% 385 o (3) T F=ar
g1 T T F afesw = (@) 2T & 9 A 3 HAT F et AWk vwa F o9 @ g9
ST @ &1 R aRa & 9@ A 9 aa & T 3w #ER 3, 99 e B, SaaEy gieptas
G____ ®l

SubQuestion No : 17

Rerd2 & foT 9ad Iugad fddhed &1 994 FIf|
& 1. tﬂ—f[




Q.18

Ans

Q.19

Ans

Comprehension:

# T o1v 5w # Fo e o U v § # 9@e Rew wue ¥ 9w fawew R oaw §l s oawt &
T Fia @1 Rwer fwg T & qf Fem

sfagra @elr § & Bl o v sk 3sf (1) AT § I 3 AU TR R sfoes #r
UTETAT Y TR (2)_ wr of TAwar §, EHINE oaT 8, 3¢ 56 favw (3)_ 9 F @
g1 T ¢ 1 afesm 3= (@) 2T & 9 @ 3 HAT F et Wk vwa F e @ geTe
ST @ ¥ R oRE & 9 @ 79 Fe & v wue o9=1 §, gue sfdew ¥, Saaey wiestaw
5 %I

SubQuestion No : 18

Rei3 & o 99 Iugad fahed &1 994 S|

Comprehension:

Aa R AFc g e Rrar i s Rem m s I R R v & s@ IRt A
T w1 Fwer foa T & qfd Fom-

sfagra msfr & & frdr ¢ =7 wilkg a:=fr (1) T § F9 3 Hua T=fEEe Ak sfoee f
TFEIHT FTIETET (2) 1 ofr fimrar 3, T T §, 398 58 v (3) T
g1 g ¢ = afesm @2 (@) 2T & 9 @ 3 HAT F et AWk vwa F o9 @ geTe
SET T §1 T 9RE & 9 @ 79 e ¥ v wug o=R 3, uue ofaew ¥, Saasy wiegtaw

(5). gl

SubQuestion No : 19

R4 & U gy Iugad fdhed & 994 FIfd |
1. HITH
2 Hrgd

3 FdeHS
v 4 Jwmdd




Comprehension:

A Rrmw e Asc e Rr v s R m S R R R v & s7 IRt A
¥ Fia 7@ Feew Rea e & 9fF wem-

sfagra @mel § & Bl oo v sikg 3af (1) AT § F9 3 U TReEe i afoee &
TTETAT Y IR (2)_ @ off fEwar §, NG AT §, 39 s8% v (3) e wear
g1 T ¢ 1 afesm 3= (@) 2T & 9 @ 3 HAT F et Wk vwa F e @ geTe
=T | &1 Y aRE & 9w & oF Fe ¥ v v #Er w9 sfeew ¥, Sawee wiegtaw
(5 El

SubQuestion No : 20

2 fegas & fou ged Suged [dded &1 909 S
Ans 1. @'I:'a'l,—_l'






